Analysis Questions:  The Asian Pacific Conflict:
Answer the following questions from your Viewpoints textbook, pages 115-118:

1. As an industrialized nation, Japan needed raw materials and export markets.

a. How did the militarist element in Japan want to accomplish this goal?

b. How did the more liberal element feel?

2. Why did Japan sign the Anti-Comintern Pact with Nazi Germany in 1936?

3. Identify two results of the Japanese invasion of China in 1937.

4. What was the intent of Japan’s new foreign policy, the Greater East Asia Co-prosperity Sphere, announced in 1941?

5. How did Americans react to Japan’s new foreign policy?

6. Why did the Japanese plan a surprise attack on the American naval fleet stationed at Pearl Harbour, Hawaii?

7. What were the results of the Japanese attack on Pearl Harbour on 7 December 1941?

8. Japanese hopes for a quick and decisive victory over the United States after Pearl Harbour never materialized.  Give reasons why the Japanese were defeated in the Second World War.
